Good afternoon: if yvou still have your related rates take home assessment, please turn those in ASAP

We will check over hw in a few and take some more notes on reverse chain rule
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Good afternoon: warm up in your notebooks

Please have a device
with you today

Reminders:

- tutoring today after school
- next assessment: Monday
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Bonus example: using u-sub INSTEAD OF the reverse chain rule

If the reverse chain rule doesn't make sense to you, you can do u-sub instead.

H‘N—Z - x4
Jx( "1'3)/LJX
Ler u:ﬁ‘%"%

Ne need d Solve

Hr X M,r.g,,,mH when
€xg oNLAtS Aokt wevk




3x Let[u= Hx-1]
s dx S' 0

- -—l‘-
J 2y {_{1’13)‘ Uftedh ‘geE

J :g,(“@u Ju

S[G (\f}u)ju FTMAJL, Q,‘(,

»
8 ol

tss [“J* gﬁn{lﬁ‘l’ Z& -

6 W+ -—Q W+ ¢

() e 2y (m\ L

Another u-sub example
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